TALEEMI DUNYA

Test Syllabus: Unit # 7 (Introduction to Trigonometry)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle

in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
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Angle -330%lies in quadratic. &8s e ) 3300 M5l | -6
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tan X sin x sec x =7 tanx sinx secx =? | .7
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2. Answer the following Question:

(2xT= 14) : —i¢5d Sl g aiin S Y] g i 7 22

@) Define angle of elevation.
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(ii)

Find @ when! =4.5cm,r =2.5cm

[=4.5cm,r =2.5cm S 2 Sasa | (ii)
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(iii) | Convert into degreel3—67[
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(iv) | Express the angle into radian. 300° 300°% 25 e i)y S sl dd e 2 | (iv)
(v) | Show that (1 —sin> 6)1+tan* 6)=1 (1—sin> 61+ tan* 0)=1-ces | )
(vi) | Find area of the sector where r = 6¢m, 8 = 60° F=60m,0=60" Sas S psle iy Seyilagllad | (VD)
(vii) | Define angle of depression. oS el SNl | (vid)
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Note: Attempt the question in detail.

(4+4= 8) - =g @l Ll S J) g Jud 7 0 1058

Q:3 (a) Prove that: sin’ @ =sin @ —sin .cos” 6

sin” @ = sin @ —sin 0.cos” G- S Sl () 3 il s

(b) Prove that: \/m _secO+1
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sec—1 tan &
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